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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]

4 I 1 I I I I
3500 —>— EcFzExp :
3000 | ¢ ECdef :
—>— water_ec |
2500 D808080000000008008000000000008000080000008000080004 M A000800008000000880008000000800008000000800808000000800008000000800008000000800000800000800000080000800000080000800000080000800000084
I ;;;;:;;;;;y
2000 : 2
I
1500 |
xmo?x !
1
1000 I
1
Warning: col [ EcFgro’, 'EcPltng’] is missing

500

25 5

0

75

100

125

150

200 2 28 XX XX X 2 X X

175



Plot [’ ECopt’]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forG3-1_0
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FRV (ml plant-1)
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G3-1

BfiE) | BRI (D) | EE (EH/AR) | XK R

06:35 68 40.0 = {RRiB006:35 B (RFAKEE)
07:35 68 40.0 = {RRi8007:35 Bz (RAEEE)
08:50 68 40.0 = {Ri%@08:50 B (RAERSE)
10:05 68 40.0 [2=| {Ri%e10:05 B (REAHERSE)
11:05 68 40.0 =l BRiBe11:05 Bz (REAERESE)
12:05 68 40.0 = {Ri%e12:05 B (REAERSE)
13:10 68 40.0 El BRi&e13:10 Bz CGRAEREE)
14:10 68 40.0 =l BRiBe14:10 Bz (REAEESE)
2it| 544.0 (8%) 320.0 328053 %EC: 2000.0, PH: 6.0

BEXREBIPH (10.37) 5i8EPH (6.0) REWR K, BT
FERERPH (10.37) 5FPH (6.5 REKK, FHE
#[EKECE (2003.0 vs 3745.0) 15

LEORGEBIPH (10.1) 5i&EE (6.0) wERKK, BRE.
LRGERPH (10.1) S5iRBIE (6.0) RERK, BRE

o




G3-1_0, Day=14 (2025-05-26)
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G3-1

BfiE) | EBIETK (D) | EE (EH/AK) | XK R

06:20 65 40.0 E 1BRi&e06:20 BEh (RAEREE)
07:10 65 40.0 5| {Ri%e07:10 Bz (RAERSE)
08:00 65 40.0 = {RRiB008:00 B (FRFAEEE)
08:50 65 40.0 = {RRiB008:50 Bzh (RFAEEE)
10:00 65 40.0 5| {Ri18@10:00 Bzh (RAERSE)
11:00 65 40.0 =l {Rige11:00 B3 (RAERSE)
11:55 65 40.0 =] {Rige11:55 B (REAERESE)
13:00 65 40.0 E BRi%e13:00 Bz (GRAERERE)
13:50 65 40.0 E|  {Rig@13:50 B3h (RE{EREE)
14:45 65 40.0 E| Rige14:45 Bzh (GRAEES)
15:40 65 40.0 | 1Rike15:40 Bz (REAERS)
16:50 65 40.0 5| 1RiR@16:50 B (KREAEES)
2it]780.0 (12)%) 480. 0 3Z U KEC: 2000.0, PH: 6.0

LOREBURIR EEFRT )N (0.61 vs 0.68), FAIEEEZ AREREBEEIKESRRE
ZRIASEPREBRE40. 0 ml.

large discrepency for begining water status (100:267.0), set to 100 ml.
REXEBIPH (10.27) H5i&EPH (6.0) REKR KA, HRE

REXGEMIPH (10.27) 5FMPH (6.5) REKRK, BHRE

PE[EIRECE (1885. 0 vs 3288.0)53 5

EXGEBIPH (10.3) 5i&EE (6.0) REKK, BRE.

ERGEBIPH (10.3) S5iREEY (6.0) REK K, BHRE.



G3-1_0, Day=13 (2025-05-25)
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G3-1

BYE) | GEBERTIC (B)) | EBE (BEAH/#) | XS R

07:15 65 40.0 5| 1Rike07:15 Bz (KREAEES)
08:10 65 40.0 = RRiB008:10 B (FRFAEEE)
09:20 65 40.0 = RRiB009:20 Bz (RAEEE)
10:20 65 40.0 El BRi%010:20 Bz GGRAERE)
11:10 65 40.0 =l Rige11:10 B3 (GRAERSE)
12:05 65 40.0 =l RRiBe12:05 Bz (REAKEE)
13:05 65 40.0 E| {Rig@13:05 Bzh (RE{ERSE)
14:00 65 40.0 E[ BRige14:00 Bz (CGRAERSE)
15:05 65 40.0 | Ri%e15:05 B (REAHRESE)
16:20 65 40.0 E BRige16:20 Bzl (GRAERERE)
E21t]650.0 (100%) 400. 0 3203 %EC: 2008.0, PH: 6.0

BEXREBIPH (10.35) 5i8EPH (6.2) IREW K, BT
FEREBIPH (10.35) 5FPH (6.5 REKK, FHE
#[EKRECE (1892.0 vs 3318.0) T35

LORGEBIPH (10.2) 5i1&EE (6.0) wEKK, BRE.

LRGERPH (10.2) SiRBIE (6.0) RERK, BRE.




G3-1_0, Day=12 (2025-05-24)
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